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If a 120 meter long train crosses a man in 27 sec then find the speed of train in

km/h?
Tfe Tk 120 HieX el 37 Ueh ATSHT Y 27 Tehe W U hTcl & °T 3 <hi i ferwi/ger o

AT H?

@7 =% 1.12
(J ) 2.16

3.18
4.20
5.NOT



A train 300 meter long is running at the speed of 25m/sec. It will cross of a bridge of
200 meter long in ?

300 HieX T Tk ¢ 25 WieyAehs hi 7Tfd & I W@l 21 T8 200 HieX & et ol IR
HTT ?

% 1.5
(J - 2.10

3.20
4.25
5.NOT



A 150 meter long train crosses a pole in 9 sec and crosses a platform in 45 sec then

find the length of platform?
Teh 150 HieX et TTST Ueh WFY hi 9 UehUS H TR hid! & TR Ueh TCWHTH ohl 45

UhUE H U HIAT § A1 CTHEHTH Shi TTFITS FTA chioT?

w m> 1.300
2.600
3.750

4.900
5.NOT



A 120 meter long train crosses a river bridge in 30 sec and crosses a railway signal

in 18 sec then find the length of Bridge?
T 120 HeX cialt Wl Ueh 7T o TeT Tl 30 ¥ehe H UR h¥d! § 3T Teh e (et

T 18 TehS H YR KT § A1 Ut chl TialTg AT hiTeTg?

w m> 1.40
2.80
3.300

4.700
5.NOT



A train crosses a 100 meter long platform in 45 sec and a pole in 27 sec. find the
length of train?

Teh ¢ 100 et T Tl hi 45 Tehg W 31 Uesh UTeT ohi 27 Uehe W IR hid! gl S
I g uTa?

( w m> 1.66.66

2.150
3.100
4.200
5.NOT



A train passes a pole in 20 seconds and a bridge in 60 seconds. What is the length of
the bridge, if the length of the bridge is 50 m more than the length of the train?
T (TS Ueh TP ol 20 HRUE | TUT Teh It ohl 60 AhUS H UR KTt 8l T hl

TETE TFIT ], AT TS hl SaT8 ¢ hi SaTs o 50 Hiex 11k 22

(/2 1.100 m
<\5@> 2.25m

3.35m
4.45 m
5.NOT



A train passes two bridges of lengths 800 meter and 400 meter in 100sec and 60sec
respectively. The length of the train is ?

Tk <7 800 HieX 3R 400 Wi h #aTS ATt It Teli ohl THAI: 100 Aehe 3N 60 Tehs |
R STt | S hl waTs 82

w m> 1.80
2.90
3.200

4.150
5.NOT



A train takes 18 sec to pass through a platform 162 meter long and 15sec to pass

another platform 120 meter long. Then find the length of train?

T ¢ 162 Wi A TWEHhH 8 T H 18 Fohe o1 THT ot § 31X 120 Hiet &

TACWRTH Shi IR i T 15 Uchg T AHT oIl g1 AT ¢ shl a8 [ATd chitaTa?

(@)

1.70
2.80
3.90
4.105
5.NOT



A train 180 meter long moving at the speed of 20m/s over takes a man moving at a
speed of 10m/s in the same direction. The train passes the man in ?

180 Tex Taft Ueh 37 20 Wet/Ache Y el & wretet & 31X 36t faom o 10 tev/aehe 6
T | TeT T@ Ueh TR ohl o SATAT g ¢ STTEHT i 31aX | TSI 87

(@ 3
2.9

3.18

4.27

5.NOT



A train of length 150 meter takes 10 sec to cross another train 100 meter long
coming from opposite direction. If the speed of first train 30 km/h then find the

speed of another train?

150 Hex wiaft Teh ¢ forodia T & ormr amett 100 HWiex wieft Sokt 7 @l TR &t 7 10
ﬁmsﬁrwﬁﬁ%mﬁmhaﬁnﬁm%ﬁm%ﬁmﬂhaﬁnﬁm

Shrfu?

(@) i

3.60
4.80
5.NOT



Two trains travelling in same direction at 40 km/h and 22 km/h respectively
completely cross each other in 1 min. If the length of first train is 125 meter and find

the length of another train ?

Uk gt faom o shawT: 40 ferfiyeeT aiiv 22 ferdt/erer iy e & e e areft &Y 24 1
T o Ueh g8 ol Ol e | TR LAl 81 i Tl 7 ol iag 125 Wit € 3R e’

aﬁﬁ?ﬂémaﬁ?

, N> 1.155
2.175
3.160

4.200
5.NOT




Two stations A and B are 220km apart on a straight line. One train start from A at
8am and travelled towards B with speed 20km/h. Another train start from station B
at 10am with speed of 25km/h. find at what time they will meet?

T A 3R B T Hreft Wr W 220 forrt 51 31 T ¢ A ¥ g8 8 991 I Bl § 3R
20 Terei/eieT St fear & B <t 3TR ST 81 Uk arcré-r%%m B ﬁm 10 T 25 Reefiyeier
ST 7Tl & SreTet 21 T ot foh o foher awer Toerr?

, N) 1.2pm
2.1pm
3.3pm

4.5pm
5.NOT




Two stations A and B are 330km apart on a straight line. One train start from A at
8am and travelled towards B with speed 60km/h. Another train start from station B

at 9am with speed of 75km/h. find at what time they will meet?

T A 3R B T Hreft Wr W 330 Forwt 31 31 T ¢ A ¥ g8 8 I I Bl § 3R
60 TerHi/eeT & Tfa & B hY 3T ST 2 wméﬁ@mﬁ@rm 9 =t 75 Fpeft /
Tt ST I | I gt 81 vt R foh o forer s fuer?

, N) 1.2pm
2.11am
3.3pm

4.4pm
5.NOT




If the train moves 11/8 of its normal speed then it takes 22hrs to cover a certain
distance. If train moves its new speed then how much time it will save?

afe & oot | i & 11/8 wrerdt @ at Ues fara ot a9 s § 22 He ot ana ot
B TS ST 3TUAT T2 A W TeTdt & Al I8 Tehd T TH STTuiit?

w m> 1.16
2.8.25
3.12

4.17
5.NOT



The ratio of length of two trains is 5:3 and the ratio of their speeds is 6:5. The ratio
of time taking by them to cross a pole is?

Y AT ST CIaTS ST STTUT 5:3 § IR IThT TTT ST SATUTA 6:5 §l ITch ERT U UTeT oh
R A H T ATl THI T ATATA?

w m> 1.5:6
2.11:8
3.25:18

4.27:16
5.NOT



Two trains X and Y start from station A and B towards B and A respectively. After
passing each other they take 4hr 48min and 3hr 20min to reach B and A
respectively. If the speed of first train is 45km/h then find the speed of another

train?

g X SR Y SHATT: T A 3B ¥ B 3 A i 3R <reTdl 81 Toh T8 ol IR i o
T2 3 THIT: BaﬁTAa%Bqﬁ?rfrw%mﬁqzaﬁUa%zoﬁnzwmﬁﬁ%mﬁ

et 3 < TTfer 45 feRwfiyeieT & At gt ¢ o wifer e il

(@) i

3.54
4.30
5.NOT















